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Y4YhyhIYPAM= a 7U7 2.5cm Y4V HhyMNIYTFZ A=Y a MIX 2.5cm

M1OkgA WIE WEE:¥4.7g N10kgA W5E WEER:¥4.7g
W1 X #IW2.5xD2.5xH1.8cm W41 X #IW2.5xD2.5xH1.8cm

S14vhybIUPA=> a 7Ib— 2.5cm 14V hyhoUFPAb=Y a Ev9 2.5cm Y4 YhybhIUFPAR=2 a A XI0O— 2.5cm

W1OkgA WM WEE:#4.7g WY1 X HW2.52D2.5xH1.8cm W10kgA W1 WEE:H4.7g WYX HW2.5xD02.52H1.8cm MiOkgA MWIE WEE:4.7g WY1 X HW2.5xD2.5xH1.8cm

1Y hy b IYFPAM—2 a ALY 2.5cm

1V HIRIIPAM=2 a 7')—» 2.5cm  F1VPHYBTIPAM—2 a IN—TI]b 2.5cm

W10kgA MIE WER:H47g BT HW2.5x02.5xH1.8cm Hi0kgA W1 WER:H4.7g BT HW2.5xD2.5xH1.8cm Wi0kgh WIH WEMR:MN47g B X HW2.52D2.5xH1.8cm



